

The PitStop!



SCCA Southern Indiana Region Monthly Newsletter August 2005 Volume 52 Number 8

August REport

It's August and time to Caesar (ha-ha) the moment because this month is quite a busy one. We have at least two autocross events and our annual trip to the Log Inn (because Scorpio's is closed in August -- not that that's an issue any longer) this month. Some of us will begin final preparations for the Solo II Nationals. Before long we'll be wrapping up our autocross schedule, resuming our rally schedule, nominating officers, and celebrating the end of another good year.

We have our first autocross of the month Sunday, the 7th, at the Mid-American Air Center in Lawrenceville, IL. If you've auto crossed with us before you know this is our premier site. You also know you have a reasonable idea of the course design. You know it will also be a fun day. Our second autocross of the month will be on Saturday, the 27th at the Owensboro-Daviess County Airport. Other than some car problems last June I believe most everyone had a really good time. In my opening paragraph I mentioned that we will have at least two autocross events this month. If you're up on

your SIRSCCA@yahoogroups.com postings you know the Board has kicked around the idea of an event on Sunday, the 28th too. More information about the format of this additional event will be shared at the membership meeting.

In news that might effect only a few members of the club, the SCCA Board of Directors voted earlier this year to split the Central Division. As a result, we will become a part of the Great Lakes Division. It's a good thing we are a car club and not a geography club! Of course if the Evansville-based SIR/SCCA was still meeting in Jasper I might understand the Great Lakes Division a bit better. The primary reason for the split seems to be better facilitation of road race programs.

It will soon be decision time for those toying with going to the Solo II Nationals in Topeka. We are expecting to have a smaller SIR group this year than we have had in recent years. Translation: "There is room for you!" So if you're interested in experiencing the Nationals with one of the rooms booked for the club, you should let

me know. Only a couple of the few rooms reserved remain available.

I mentioned earlier that this month's membership meeting will be at the Log Inn in Warrenton, Indiana. Please send me an email (bob.sonntag@att.net) or phone me (812-477-5936) with your pseudoreservation. Beyond the great food the highlight of last year's meeting was the viewing of *Rendezvous*. Hopefully we will have something as entertaining this year. Come see what happens. We will also have more information about the autocross events on August 27th and 28th.

Last month's REport was quite a good article. Read it again. I did a better job with it than this one. With three autocross events this month, it seems rather fitting too. Ditto for a reminder to pre-register at MyAutoEvents.com.

I hope to see you at the Centre (a.k.a Civic Center) on Sunday and then again at the Log Inn on Tuesday.

Zoom-Zoom, Wup-Wup, Bob Sonntag *Regional Executive*

2005 Board Members

Regional Executive (RE)	Bob Sonntag	812-477-5936	Bob.Sonntag@WorldNet.ATT.net
Asst Regional Exec (ARE)	Ken Andrew	812-425-7352	ken911t@email.msn.com
Secretary (SEC)	Steve Montgomery	812-437-3087	sjm239@hotmail.com
Treasurer (TRES)	Gary Heck	812-858-9919	gheck1@adelphia.net
Activity Chair (AC)	Gene Young	270-764-5950	youngfg@yahoo.com
Asst Activity Chair (AAC)	Tim Green	270-926-2859	timgreenowb@yahoo.com
Pit Stop Editor (PSE)	Paul Dornburg	270-685-4470	a911sc@bellsouth.net
Advisor (ADV)	Terry Davis	812-853-2875	T_Davis@winkconstruction.com

SIR SCCA Board of Director's Meeting 6-27-05

- 1. Meeting called to order at 6:52 p.m. by Bob Sonntag.
- 2. Officer Reports
 - a. Secretary- absent reading of minutes waived
 - b. Treasurer- We've got money, as always
 - c. Advisor to the Board- Nothing to Report
 - d. Activities Chairman- Nothing to Report
 - e. Assistant Activities Chairman- Absent working
 - f. Pit Stop Editor- Deadline is Thursday 7/21/05
 - g. ARE- Nothing to Report
 - h. RE- Nothing to Report
- 3. Membership Report- 86 (4 new 3 renewals)
- 4. Old Business
 - a. Comp Regulations. No Progress
 - b. Purchases
 - c. Pylons- No Progress
 - d. PA Speakers- changed positions of speakers on base and will test some more
 - e. Red Flags- 5 new flags

- f. Trailer & Car Clearing Jack- Jack donated by Gary Heck is in trailer Thanks Gary!
- g. Archiving of insurance releases/minors waivers Is it working?
- New Business
 - a. Previous Activity review: Autocross event #3 Heritage Hills good course good event
 - b. Region survey Bob filled it out and sent it in
 - c. Mid-year quickie patch party? not this year
 - d. Barricade building/repair not now
 - e. More New Business- Civic Center is set
- 6. Goal Projects 2005
 - Cull junk from trailer Gene did it as well as adding new shelves for equipment
 - Fire extinguisher service 7 units taken for service, 6 tested and refilled, 1 was bad and discarded

Meeting adjourned at 7:31 p.m.

Respectfully Submitted, Paul Dornburg, acting Club Secretary

July Membership Meeting

The July membership meeting was held at the newly remodeled Lonestar restaurant. Actually it's been remodeled for a few months now but it's my first time back since the change. Everything was fresh and new and the food was delicious. I had a scrumptious 6 oz fillet, cooked to a perfect pink and a sweet potato loaded with butter and cinnamon-sugar...mmm-mmm-good! Of course they took all the calories out before they brought it to me.

My handsome, talented, humorous,(sorry, I'm getting carried away here) fast and friendly and sexy (OK OK I'll stop) husband and your faithful Editor Paul Dornburg and I had the pleasure of dining at the table with Mimsie and John Coen, and the ever enjoyable Ken and Nancy Andrew. You can always expect fun and lively dinner conversation with them. We talked about the Giant Panda, Mei Xiang,(pronounced May Shong) and her new born (July 9th) cub at the

National Zoo in Washington D.C. You can watch the new mom and her baby live on the Panda Video Cam at http://animal.discovery.com/cams/pandavidr.html. It's pretty neat, go check it out.

Here's the car content as required by the Editor: we talked about cars some, the boys made their usual jokes and funny noises and Paul won the free entry to the next event.

So see, I bet you didn't know you could have so much fun sitting around with a bunch of gear heads! Come on out to the next membership meeting and you can sit at our table. Hope to see you there!

Respectfully submitted, Carolyn Dornburg temporary secretary as appointed by the Editor

Notes and Such... Where are these missing people? Gerry Bubenzer, still missing, Jeff Jackson's been to some autocrosses so he comes off the list.

Mike's Take – Mike Freeman's column will return next month with day to day coverage of the Nationals as I will send him daily notes for him to send to you.

Let it Roll - Julia Seeber's column ought to return next month with a road racing driver story.

Rallys - We didn't have a Rally in July. Our next one is scheduled for October 2nd.

Autocross

Points autocross number 3 was held at the Owensboro Daviess County airport on the last Saturday of June. 42 drivers took to the hot concrete to race around the Gene young designed course. Gene put together a nice layout on the cramped tarmac in front of the airport terminal. And for once there were a lot more SCCA members than guests.

Champion Ford Salesmen Tyler and Duke Brubaker brought over some new Fords for us to look at and one of them took a couple of rides in cars. Tyler got a ride in Jeff Jackson's 2003 Porsche Boxster and Paul Dornburg's 1973 Porsche 911. Wonder what he thought about the 2 Porsches so different in age? I think he said the '73 was 2 years older than he was!

Bob Sonntag suffered through a day of fuel problems finally traced to a failed fuel pump. Bob's story about trying to procure a fuel pump for a 1973 LeGrand at a parts store is very funny. I'm sure you all know the first question any parts guy asks these days is what does it fit on? Can you imagine the look on their faces when they start punching in 1973 Legrand? Ask Bob to tell you the story the next time you see him.

Jeff Jackson returned to the autocross wars in Owensboro. In the fast time category he was the only top 10 car that wasn't a modified, the Boxster being a B Stock car. Driving all the way from Olney IL were John Coen, Ted Eagleson and Frank Totten. Also putting miles on the car were Dr. Mario Matos from Vincennes, IN and Gary Niles from Elizabethtown, KY. Club regulars Jim Cannon and Steve Backer made their treks from the northeast area of the region.

You might wonder how Tim Green can win his class in Owensboro but finish third in the autocross points calculation. Did you? Well here's how. To win a class you must have the single fastest time of all the cars in that class. To win points for the autocross trophy you must make 1 good run in each of the two sessions. Those two fastest runs are added together and multiplied by a Performance Index number to get a total indexed time. The fastest total indexed time of all the drivers becomes the high point man that all are judged against. Take the total fastest indexed time and divide it by your total fastest indexed time and then multiply by 1000 to get your points. Simple isn't it?

Our next event is at the "Centre" in Evansville at the end of July. Come out and see Tom Bootz in the Dornburg 911. Hopefully we'll have a story soon about why Tom sold his LeGrand and is taking to the door slammers. Pre-register at MyAutoEvents.com and save two bucks.

Report any errors, misteaks or misspellings to Paul Dornburg, a911sc@bellsouth.net

Autocross	Trophy	Results

	cross frophy results				_						1							
No	Driver	Cl	Car	Run 1	P1	Run 2	P2	Run 3	P3	Run 4	P4	Run 5	P5	Run 6	P6	Index	Indexed	Points
199	PAUL DORNBURG	SM2	GREEN 911T	49.026	4	44.764	0	44.286	0	45.025	0	43.775	0	44.138	0	0.852	75.028	1000
20	BARRY BEAMAN	ES	RED MIATA	48.372	0	47.068	0	47.905	0	46.861	0	46.394	0	50.614	4	0.806	75.330	995
159	JEFF JACKSON	AS	WHITE BOXSTER	47.308	0	46.009	0	50.069	4	48.717	2	45.703	0	45.800	0	0.828	75.938	988
21	STEVE BACKER	HS	RED DATSUN	51.035	0	49.913	0	50.953	0	61.777	0	50.217	0	50.882	0	0.777	77.801	964
59	TERRY DAVIS	AS	WHT BOXSTER	48.965	2	47.077	0	48.052	0	47.701	0	47.389	0	48.799	2	0.828	78.218	959
41	PHIL WELLS	CM	PURPLE FF1600	45.676	2	44.219	0	43.732	0	43.116	0	42.885	0	45.050	2	0.908	78.648	953
136	BOB SONNTAG	BM	BLUE LEGRAND	50.363	6	42.205	0	43.069	0	42.659	0	DNS	0	DNS	0	0.942	79.942	938
99	KEN ANDREW	SM2	GREEN 911T	50.891	0	48.947	0	49.164	0	48.803	0	48.396	0	48.379	0	0.822	80.002	937
97	TED EAGLESON	FM	BLACK FVEE	49.898	0	46.155	0	48.182	2	51.137	4	47.555	0	47.155	0	0.884	82.486	909
23	DON KELLEY, MD	BS	WHITE BMW	55.992	6	50.634	0	54.233	4	57.106	6	51.499	0	50.722	0	0.821	83.213	901
197	TIM GREEN	FM	BLACK FVEE	76.186	0	51.211	2	51.764	2	46.131	0	47.088	0	45.931	0	0.884	85.874	873
5	JACKIE SATTERLY	STS	MAROON FORD	55.076	0	54.438	0	54.206	0	53.537	0	54.002	0	56.385	2	0.799	86.087	871
130	GENE YOUNG	AM	CARBON LoCost	43.963	0	44.042	0	47.499	4	44.152	0	42.737	0	42.561	0	1.000	86.524	867
30	JULIA SEEBER	AM	CARBON LoCost	57.741	10	49.579	0	48.401	2	44.008	0	51.862	4	46.174	0	1.000	94.575	793
36	TOM BOOTZ	BM	BLUE LeGRAND	43.609	0	42.884	0	44.618	2	DNS	0	DNS	0	DNS	0	0.942	NA	500
11	DAVE MOREDOCK	ASP	GRAY COBRA	52.031	0	51.681	0	53.892	0	53.847	0	51.176	0	51.064	0	0.850	NA	500
Stre	et Tires																	
28	JIM CANNON	SDS	WHITE TALON	54.694	0	52.534	0	50.688	0	51.992	0	51.960	0	49.974	0	0.796	80.127	1000
23	TJ SECORD	SDS	SILVER WRX	51.325	0	53.121	2	50.838	0	50.201	0	50.133	0	53.329	0	0.796	80.373	996
6	DON KELLEY	SHS	RED CIVIC	54.371	4	56.976	6	54.051	0	53.477	2	51.520	0	50.211	0	0.777	81.012	989
167	STEVE MONTGOMERY	SAS	HONDA S2000	52.679	0	51.399	0	50.019	0	50.207	0	50.181	0	48.531	0	0.828	81.599	981
97	GARY NILES	SSS	WHITE VETTE	49.539	0	50.914	2	48.600	0	51.118	2	49.373	0	48.942	0	0.837	81.643	981
32	FRANK BERTKE	SSM	RED 240SX	49.765	0	48.982	0	48.991	0	49.288	0	49.455	0	48.512	0	0.842	82.090	976
4	MARIO MATOS	SASP	RED BOXSTER	49.356	0	50.452	0	48.979	0	50.072	0	48.564	0	48.732	0	0.850	82.912	966
71	JAMES NICHOLS	SSM2	BLUE HONDA	51.935	0	49.468	0	49.209	0	56.628	0	49.364	0	48.610	0	0.852	83.342	961
111	MARK NEWTON	SES	BLACK MIATA	50.911	0	50.986	0	55.599	0	53.924	4	53.236	4	54.520	4	0.806	83.942	954
42	DARRIN BAILEY	SGS	BLACK CRX	54.310	0	53.313	0	38.143	0	57.390	0	54.885	0	54.779	0	0.782	84.528	947
67	JOHN COEN	SAS	YELLOW H2000	52.453	0	52.496	0	52.150	0	52.759	2	50.585	0	50.540	0	0.828	85.027	942
19	RYAN BOOTZ	SSM	SILVER MUSTAN	52.358	2	53.701	4	53.675	4	50.974	2	49.608	0	54.603	4	0.842	85.855	933
123	TOM SECORD	SDS	SILVER SUBARU	66.140	2	64.013	0	64.877	2	68.494	4	66.191	4	60.569	0	0.796	100.860	794

Points as 07/15/05

rry Points	
Gene Young	38
Bob Sonntag	37
Terry Davis	32
Paul Dornburg	32
Tim Green	23
Ken Andrew	22
John Coen	22
Ted Eagleson	17
Steve Montgomery	16
Darrin Bailey	15
Barry Beaman	15
Jim Cannon	15
Don Kelly	14
Frank Bertke	11
Frank Totten	11
Mike Freeman	10
David Moredock	10
Phil Wells	10
Tim Brown	9
Kent Schonberger	9
Steve Backer	8
Jackie Satterly	8
John Esche	7
Jeff Jackson	7
	Gene Young Bob Sonntag Terry Davis Paul Dornburg Tim Green Ken Andrew John Coen Ted Eagleson Steve Montgomery Darrin Bailey Barry Beaman Jim Cannon Don Kelly Frank Bertke Frank Totten Mike Freeman David Moredock Phil Wells Tim Brown Kent Schonberger Steve Backer Jackie Satterly John Esche

25	TJ Secord	7			
26	Michael B. Allen	6			
27	Ryan Bootz				
28	Carolyn Dornburg	6			
29	Gary Heck	6			
30	Barry Schonberger	6			
31	Nancy Andrew	5			
32	Mimsie Coen	5			
33	Glenn Wior	5			
34	Mimsie Coen	4			
35	Scott Miliam	4			
36	Tom Bootz	3			
37	Derrick Funk	3			
38	Corey Krietenstein	3			
39	James Barrow	2			
40	Myles Grant	2			
41	Mark Wannemueller	2			
42	Kathryn Birdwell	1			
43	Gerry Bubenzer	1			
44	Darlene Cannon	1			
45	Michael Davis	1			
46	Ron Groenert	1			
47	Chris Moore	1			
48	Derrick Nicholson	1			
49	Fred Pendley	1			

Man	

	AutoX Points tota	al	AutoX Points Dro					
1	Paul Dornburg	2956	Paul Dornburg	2000				
2	Barry Beaman	2927	Tim Brown	1977				
3	Terry Davis	2908	Barry Beaman	1965				
4	Steve Backer	2848	Terry Davis	1949				
5	Bob Sonntag	2847	Jim Cannon	1932				
6	Tim Green	2786	Steve Backer	1922				
7	Ken Andrew	2739	Tim Green	1913				
8	Ted Eagleson	2691	Bob Sonntag	1909				
9	Gene Young	2676	Don Kelley	1901				
10	Tim Brown	1977	Phil Wells	1896				
11	Jim Cannon	1932	Jackie Satterly	1873				
12	Don Kelley	1901	Ken Andrew	1869				
13	Phil Wells	1896	Gene Young	1809				
14	Jackie Satterly	1873	Ted Eagleson	1804				
15	John Coen	1445	John Coen	1445				
16	Frank Totten	1343	Frank Totten	1343				
17	John Esche	1171	John Esche	1171				
18	David Moredock	1000	David Moredock	1000				
19	Scott Miliam	994	Scott Miliam	994				
20	Jeff Jackson	988	Jeff Jackson	988				
21	Derrick Funk	984	Derrick Funk	984				
22	Corey Krietenstein	981	Corey Krietenstein	981				
23	TJ Secord	978	TJ Secord	978				
24	Frank Bertke	965	Frank Bertke	965				
25	Mike Freeman	964	Mike Freeman	964				
26	Darrin Bailey	919	Darrin Bailey	919				
27	Steve Montgomery	892	Steve Montgomery	892				
28	Michael B. Allen	869	Michael B. Allen	869				
29	Mark Wannemueller	847	Mark Wannemueller	847				
30	Myles Grant	838	Myles Grant	838				
31	Kent Schonberger	807	Kent Schonberger	807				
32	Tom Bootz	500	Tom Bootz	500				

We may hold an extra autocross event on Sunday, August 28 at Lawrenceville. Check MyAutoEvents.com for a listing or call a Board member.

Rookie Points

1	John Esche	0.292
2	Scott Miliam	0.182
3	Mark Wannemueller	0.083
4	Kathryn Birdwell	0.042
5	Stephen Wallace	0.000
6	Jimmy Wooldridge	0.000

Rally Points

1	Gene Young	15
2	Terry Davis	12
3	Paul Dornburg	12
4	Bob Sonntag	12
5	Ken Andrew	7
6	John Coen	7
7	Frank Totten	7
8	Frank Bertke	5
9	Carolyn Dornburg	5
10	Tim Green	5
11	Darrin Bailey	2
12	Ryan Bootz	2
13	Ted Eagleson	2
14	Kathryn Birdwell	1



Owensboro Berry Point Results for Class Trophies
No. Driver Class Car

No.	Driver	Class	Car	Run 1	P1	Run 2	P2	Run 3	Р3	Run 4	P4	Run 5	P5	Run 6	P6	Fastest	Index	Indexed	Trophy
130	GENE YOUNG	AM	CARBON LoCost	43.963	0	44.042	0	47.499	4	44.152	0	42.737	0	42.561	0	42.561	1.000	42.561	*
30	JULIA SEEBER	AM	CARBON LoCost	57.741	10	49.579	0	48.401	2	44.008	0	51.862	4	46.174	0	46.174	1.000	46.174]
136	BOB SONNTAG	BM	BLUE LEGRAND	50.363	6	42.205	0	43.069	0	42.659	0	DNS	0	DNS	0	42.205	0.942	39.757	*
36	TOM BOOTZ	BM	BLUE LeGRAND	43.609	0	42.884	0	44.618	2	DNS	0	DNS	0	DNS	0	42.884	0.942	40.397]
41	PHIL WELLS	CM	PURPLE FF1600	45.676	2	44.219	0	43.732	0	43.116	0	42.885	0	45.050	2	42.885	0.908	38.940	j
197	TIM GREEN	FM	BLACK FVEE	76.186	0	51.211	2	51.764	2	46.131	0	47.088	0	45.931	0	45.931	0.884	40.603	*
97	TED EAGLESON	FM	BLACK FVEE	49.898	0	46.155	0	48.182	2	51.137	4	47.555	0	47.155	0	46.155	0.884	40.801	j
199	PAUL DORNBURG	SM2	GREEN 911T	49.026	4	44.764	0	44.286	0	45.025	0	43.775	0	44.138	0	43.775	0.852	37.296	*
99	KEN ANDREW	SM2	GREEN 911T	50.891	0	48.947	0	49.164	0	48.803	0	48.396	0	48.379	0	48.379	0.822	39.768	j
159	JEFF JACKSON	AS	WHITE BOXSTER	47.308	0	46.009	0	50.069	4	48.717	2	45.703	0	45.800	0	45.703	0.828	37.842	*
59	TERRY DAVIS	AS	WHT BOXSTER	48.965	2	47.077	0	48.052	0	47.701	0	47.389	0	48.799	2	47.077	0.828	38.980]
23	DON KELLEY, MD	BS	WHITE BMW	55.992	6	50.634	0	54.233	4	57.106	6	51.499	0	50.722	0	50.634	0.821	41.571]
20	BARRY BEAMAN	ES	RED MIATA	48.372	0	47.068	0	47.905	0	46.861	0	46.394	0	50.614	4	46.394	0.806	37.394	*
21	STEVE BACKER	HS	RED DATSUN	51.035	0	49.913	0	50.953	0	61.777	0	50.217	0	50.882	0	49.913	0.777	38.782	j
5	JACKIE SATTERLY	STS	MAROON FORD	55.076	0	54.438	0	54.206	0	53.537	0	54.002	0	56.385	2	53.537	0.799	42.776	*
11	DAVE MOREDOCK	ASP	GRAY COBRA	52.031	0	51.681	0	53.892	0	53.847	0	51.176	0	51.064	0	51.064	0.850	43.404	*
Stree	et Tires																		_
6	DON KELLEY	SHS	RED CIVIC	54.371	4	56.976	6	54.051	0	53.477	2	51.520	0	50.211	0	50.211	0.777	39.014	*
28	JIM CANNON	SDS	WHITE TALON	54.694	0	52.534	0	50.688	0	51.992	0	51.960	0	49.974	0	49.974	0.796	39.779	*
23	TJ SECORD	SDS	SILVER WRX	51.325	0	53.121	2	50.838	0	50.201	0	50.133	0	53.329	0	50.133	0.796	39.906	*
167	STEVE MONTGOMERY	SAS	HONDA S2000	52.679	0	51.399	0	50.019	0	50.207	0	50.181	0	48.531	0	48.531	0.828	40.184]
97	GARY NILES	SSS	WHITE VETTE	49.539	0	50.914	2	48.600	0	51.118	2	49.373	0	48.942	0	48.600	0.837	40.678]
32	FRANK BERTKE	SSM	RED 240SX	49.765	0	48.982	0	48.991	0	49.288	0	49.455	0	48.512	0	48.512	0.842	40.847]
111	MARK NEWTON	SES	BLACK MIATA	50.911	0	50.986	0	55.599	0	53.924	4	53.236	4	54.520	4	50.911	0.806	41.034]
4	MARIO MATOS	SASP	RED BOXSTER	49.356	0	50.452	0	48.979	0	50.072	0	48.564	0	48.732	0	48.564	0.850	41.279]
71	JAMES NICHOLS	SSM2	BLUE HONDA	51.935	0	49.468	0	49.209	0	56.628	0	49.364	0	48.610	0	48.610	0.852	41.416]
19	RYAN BOOTZ	SSM	SILVER MUSTAN	52.358	2	53.701	4	53.675	4	50.974	2	49.608	0	54.603	4	49.608	0.842	41.770]
67	JOHN COEN	SAS	YELLOW H2000	52.453	0	52.496	0	52.150	0	52.759	2	50.585	0	50.540	0	50.540	0.828	41.847]
42	DARRIN BAILEY	SGS	BLACK CRX	54.310	0	53.313	0	38.143	0	57.390	0	54.885	0	54.779	0	53.313	0.782	41.691]
123	TOM SECORD	SDS	SILVER SUBARU	66.140	2	64.013	0	64.877	2	68.494	4	66.191	4	60.569	0	60.569	0.796	48.213]

PitStop is the official publication of the Southern Indiana Region of the Sports Car Club of America, Inc. and is published monthly at PO Box 1112, Evansville, IN 47706. Opinions expressed herein are those of the authors or editor and are not necessarily those of the Southern Indiana Region; it's officials, members or advertisers. Permission to reprint material from PitStop is granted to all SCCA regional publications and it's national publication, SportsCar, with regards for full credit to the author and PitStop. Hi Mommy O!

2005 Schedule

April 05	May 05	June 05
3-Bob's Rally #4 starts behind Washington Square Mall, Evansville	1-Ken's Rally #5 – Sunday, starts at Castle High	5- <u>Autocross #3</u> , Heritage Hills High School
4-April Board Meeting	10-May Board Meeting to be held before Club Meeting	6-June Board Meeting
9-Sat - Patch Party Part I - Lawrenceville, IL	10- <u>May Board Meeting</u> to be need before Club Meeting	10-12 SCCA Tour Event, Toledo, OH
9:00 AM until holes are filled	10-Tue-Membership meeting, Evansville IN	14- <u>Membership meeting</u> , Evansville IN
12-Tue- Membership meeting, Evansville IN Lonestar Steakhouse, just off Green River Rd	The Pasta Grille 7700 Eagle Crest Blvd, 471-7825 in Evansville. It is just west of the intersection of the Lloyd & I-164.	Lonestar Steakhouse, just off Green River Rd.
16-Sat - Patch Party II - Lawrenceville, IL	it is just west of the intersection of the Lloyd & 1-104.	25- <u>Autocross #4</u> , Owensboro Airport
9:00 AM until holes are filled – NOT NEEDED	15-Autocross #2, Lawrenceville, IL Opening Bookend	26-SoIL Autocross, Lawrenceville, IL
23-Sat-Test & Tune - Autocross #1 -Lawrenceville, IL - CANCELLED		27-July Board Meeting
July 05	Aug 05	Sep 05
1-3 SCCA Tour Event, Peru, IN	1-August Board Meeting	10-16 Solo Nationals, Topeka, KS
12-Membership meeting, Evansville IN	7-Autocross #6, Lawrenceville, IL	20-Membership meeting, Evansville IN
Lonestar Steakhouse, just off Green River Rd.	9-Membership meeting, Evansville IN, Log Inn, Haubstadt, IN	Lonestar Steakhouse, just off Green River Rd.
24- <u>Autocross #5</u> , Evansville Civic Center	27-Autocross #7, Owensboro Airport	17-25 SCCA Road Racing Runoffs, Mid-Ohio Sports Car Course
	28 Autocross, Lawrenceville, IL – Test & Tune ???	Lexington, Ohio
	29-September Board meeting	
Oct 05	Nov 05	Dec 05
2-Gary's Rally #6	8-Tue- Membership meeting, Evansville IN	2-Awards Banquet and Holiday Party
3-October Board Meeting	Lonestar Steakhouse, just off Green River Rd	Rolling Hills Country Club
11-Tue- Membership meeting, Evansville IN	13- <u>Rally #8</u>	17-Light Tour
Lonestar Steakhouse, just off Green River Rd	28-December Board Meeting	17-Light Total
16- <u>Autocross #8</u> - Closing Bookend - Lawrenceville, IL		
30-Rally #7, Halloween Rally		
31-November Board Meeting		
Autocross Events:	Rally Events:	Membership Meetings:

Autocross Events:

Autocross Events:

9:30 A.M. - Course set-up begins
12:30 P.M. - Registration and Tech open
11:00 A.M. - Registration and Tech open
11:00 P.M. - Registration and Tech close
12:30 P.M. - Registration and Tech close
12:30 P.M. - Registration and Tech close
12:30 P.M. - Privation and Tech close
12:45 P.M. - Driver's meeting
1:00 P.M. - First car off
Arriving late? Contact Paul Dornburg in advance by E-mail or phone by 6:00 PM the preceding day or register at myautoevents.com
Paul Dornburg - agl 1sc@bellsouth.net - 270-685-4470 home - 270-570-4107 cell - 270-993-3994 cell
Lawrenceville Autocrosses are at Mid-American Air Park near Lawrenceville, IL
Heritage Hills Autocross is at Heritage Hills High School parking lot, Lincoln City, IN
Civic Center Autocross is held at the Evansville Civic Center parking lot
Owensboro Autocrosses are at Owensboro/Daviess County Airport, Owensboro, KY

Membership Meetings:

6:30 P.M. to 8:00 P.M. – Socializing 7:00 P.M. – Dinner 8:00 P.M. -- Business meeting